693

% S\vC



SY3000/5000/7000 Series

G Single Unit/Sub-plate Type [1P67 Comphant]
(Side ported, Bottom ported Top ported) C c“ s

(@R Sub-plate Specifications

L)
Manifold type Plug-in sub-plate Q -
Side ported 1(P), 5(EA)/3(EB) port, 4(A)/2(B) port Side ported
" N Bottom ported 1(P), 5(EA)/3(EB) port, 4(A)/2(B) port Bottom ported
Piping direction Top ported 1(P), 5(EA)/3(EB) port Side ported
0P porte 4(A)2(B) port Top ported
SUP/EXH port type SUP/EXH individual port [5(EA), 3(EB) individual]
Applicable connector M12 waterproof connector
Internal wiring Positive common, Negative common
SY3000 1/8
Side ported 1(P), 5(EA)/3(EB) port, 4(A)/2(B) port SY5000 1/4
SY7000 3/8
SY3000 1/8
Port size Bottom ported 1(P), 5(EA)/3(EB) port, 4(A)/2(B) port SY5000 1/4
SY7000 3/8
SY3000 1/8
1(P), 5(EA)/3(EB) port SY5000 1/4
Top ported 5Y7000 3B
4(A)/2(B) port Compliant with the valve*!
Enclosure (Based on IEC60529) P67
Side ported 99
SY3000 Bottom ported 109
Top ported 104
Side ported 145
Weight: W [g]*2 SY5000 Bottom ported 172
Top ported 159
Side ported 205
SY7000 Bottom ported 232
Top ported 227

=1 Refer to page 404 for valve specifications.
%2 The valve and cable weights are not included. To obtain the weight with valves attached, add the valve weights given on page 406, and to include the
cable weight, add the connector cable weight on page 696.

(ETED Sub-plate Flow Rate Characteristics

Rubber Seal Metal Seal
SuiEs Sub-plate | Fitting port size 1—>4/2 4/2 — 5/3 SaiEs Sub-plate | Fitting port size 1—>4/2 4/2 — 5/3
piping location| (P, E) | (A, B) (o] b C b piping location| (P, E) | (A, B) © b C b
Side ported | 1/8 1/8 1.8 0.27 1.7 0.26 Sideported | 1/8 1/8 1.4 0.14 1.3 0.26
SY3000 [Bottom ported| 1/8 1/8 1.7 0.23 1.4 0.27 SY3000 [Bottom ported] 1/8 1/8 1.3 0.13 1.3 0.22
Top ported 1/8 Cé 1.3 0.34 1.5 0.27 Top ported 1/8 C6 1.2 0.22 1.4 0.29
Side ported | 1/4 1/4 4.2 0.21 4.0 0.26 Side ported | 1/4 1/4 3.2 0.13 3.5 0.16
SY5000 [Bottom ported| 1/4 1/4 4.0 0.19 4.0 0.23 SY5000 [Bottom ported| 1/4 1/4 3.0 0.12 3.2 0.17
Top ported 1/4 c8 2.9 0.29 4.1 0.33 Top ported 1/4 c8 2.6 0.23 3.2 0.19
Side ported | 3/8 3/8 6.5 0.24 6.3 0.23 Sideported | 3/8 3/8 4.6 0.10 4.9 0.16
SY7000 [Bottom ported| 3/8 3/8 6.4 0.22 6.3 0.22 SY7000 [Bottom ported] 3/8 3/8 4.6 0.10 4.9 0.17
Top ported 3/8 C12 5.4 0.30 6.0 0.27 Top ported 3/8 C12 4.0 0.18 4.7 0.16

« Calculation of effective area S and sonic conductance C: S =5.0 x C
* The value is for individually operated 2-position type.

694



[T Single Unit/Sub-plate Type [IP67 Compliant]
(Side ported, Bottom ported, Top ported)

How to Order

In the case of - + Sub-plate (Built-in valve type part no.)

ﬁﬁHHMWMWWHJJP%HLH

sv|3||1|3| NENEHN
0000

00

ééb

9 Light/surge voltage suppressor and common specification

TR RY

0 Series
3

SY3000/5000/7000 Series

@ A, B port thread type (Thread piping)

*1 Only the rubber seal type is available for the
4-position dual 3-port valve.

e Seal type
[o

| Rubber seal |
1] Metal seal |
0 Pilot type
Nil | Internal pilot |
LR | External pilot |

When selecting the external pilot specification
for the 4-position dual 3-port valve, pay atten-
tion to the pilot pressure. Refer to the valve
specifications on page 404 for further details.

Q Back pressure check valve (Built-in valve type)
1] None |
H | Built-in |
+ Only the rubber seal type is available.
* The built-in valve type back pressure check
valve is not available for the 3-position type
or the SY7000.

@ Manual override

Nil: D:
Non-locking Push-turn H
push type locking <,
slotted
type
® °
E: F:
Push-turn | Slide locking
locking lever "2, type
type
° ()

= Refer to page 423 for the safety slide locking
manual override.

m A, B port size (+ Top-ported valve only)
Thread piping

SY3000 - Surge voltagel Common Nil Re
5 SY5000 S| Wit su%presso? specification F G
7 SY7000 Nil — — N NPT
R — Non-polar T NPTF
Q Type of actuation U [ ] s Only Nil is available for M5.
1 N Single S — ° Positive
g | ZPosition Double z ° common (® Type of mounting screw
3 Closed center NS — Negative Nil Round head combination screw
4 3-position Exhaust center Nz ° common B Hexagon socket head cap screw
5 Pressure center = For the non-polar type, be careful of surge K | Round head ion screw (Drop prevention type)
A N N.C.N.C. voltage intrusion. Refer to page 706 for details. H__ [ Hexagon socket head cap screw (Drop prevention fype)
| B | :ugi)gn,ﬂ]'t N.O/N.O. ) g:\:,yerzsa?,?ﬁg lc\liiuli)t/pes are available with a * For “K” and “H,” the valve body cover has a
C+ N.C./N.O. ) drop prevention construction to stop the

mounting screws from falling out when the
valve is removed for maintenance, etc.

= Refer to page 696 when the base gaskets
and mounting screws are required for
maintenance.

= When using an optional spacer assembly,
“B” and “H” cannot be selected.

@ Wiring specifications (Sub-plate)
WO | Without M12 connector cable
W1 | With M12 connector cable (300 mm)
W2 | With M12 connector cable (500 mm)
W3 | With M12 connector cable (1000 mm)
W4 | With M12 connector cable (2000 mm)
W7 | With M12 connector cable (5000 mm)

 When ordering a product with M12 connector
cable, the connector cable is included.

@ Port location (Sub-plate)

Nil Side ported

B Bottom ported

V1| Top ported (1P, 5EA, 3EB port: Side ported)
#1 Only available for the valve piping type “3”

Symbol Port size Applicable series top ported
@ Pilot valve option M5 M5 x 0.8 SY3000
Nil Standard (0.7 MPa) 01 1/8 SY5000 @ Port size (Sub-plate)
B Quick response type (0.7 MPa) 02 1/4 S$Y7000 Symbol] Port size Applicable series
Kt High pressure type (1.0 MPa) Metric size (One-touch fitting) 01 1/8 SY3000
#1 Only the metal seal type is available for the Sym| A, Bport  [SY3000/SY5000[SY7000 02 1/4 SY5000
high pressure type. Cc2 02 o — — 03 3/8 SY7000
i c3 23.2 [ ] — —
0 Coil type ca 04 D ° — ® Thread type (Sub-plate)
1] Standard C6 06 [ ] [ ] [ ] Nil Rc
T [ With power saving circuit (Continuous duty type) \ C8 8 — ] ] F G
* Be sure to select the power saving circuit C10 210 — — [ ) N NPT
type if the valve is to be continuously C12 012 — ) T NPTF

energized for long periods of time.
= Be careful of the energizing time when the

Inch size (One-touch fitting)

power saving circuit is selected. Refer to page Symbol] A, Bport  |SY3000({SY5000({SY7000
705 for details. N1 21/8" [ ] — —
N3 05/32" [ ] [ ] —
e Rated voltage N7 o1/4" [ [ ) [ ]
[ 5 ] 24 VDC | N9|  o5/16" — ° °
[ 6 | 12 VDC | [N11 03/8" — [ = °

+ When mounting a special order (including Made-to-Order specification) valve or manifold option (spacer, etc.) on the sub-plate, add the valve part
number or spacer part number under the sub-plate part number to place an order. For details, refer to the ordering example on page 696.
+ When selecting a product with residual pressure release valve or vacuum release valve with restrictor, after selecting a model from page 413 or 415,

make selections for items 15 to 18 above.

695 a



SY3000/5000/7000 Series

How to Order

In the case of (Sub-plate) (Sub-plate single unit part no.)

* Without valve SY OM_27_ 1‘@‘%? RS ‘Q
4 + Base gasket is included.

* Valve mounting screws are not included.

o Series e Port location (Sub-plate) 9 Sub-plate thread type
3 SY3000 Nil Side ported Nil Rc
5 SY5000 B Bottom ported F G
7 SY7000 V| Top ported [1(P), 5(EA), 3(EB) port: Side ported] N NPT
T NPTF
0 Wiring specifications 0 Port size
WO | Without M12 connector cable Symbol Port size Applicable series
W1 | With M12 connector cable (300 mm) 01 1/8 SY3000
W2 | With M12 connector cable (500 mm) 02 1/4 SY5000
W3 | With M12 connector cable (1000 mm) 03 3/8 SY7000
W4 | With M12 connector cable (2000 mm)
W7 | With M12 connector cable (5000 mm) ) . ) i L
+ Refer to the table below for connector cable How to Order when mounhnqa special order (including Made-to-Order specification)
part numbers. valve on the sub-plate (Ordering
- x?)'eeny ?}I]'gecrcl)mgr)]:c[t)é’)?(él:l:)tlgvil;hirl]\gilfdzgr:meclor SY30M-27-1-W1-01 -+ 1 set (Sub-plate single unit part no.)

«8Y3200-5U1-X90---

-+ 1 set (2-position double part no./Main valve fluororubber specification)

Ordering example when mounting a manifold option (spacer, etc.)

SY30M-27-1-W1-01 -+ 1 set (Sub-plate single unit part no.)
+«SY3400-5U1 - 1 set (3-position exhaust center part no.)
+SY30M-60-1A - 1 set (Part no. for double check spacer with residual pressure release valve)

A\ Caution

Due to the properties of the double check spacer, assembly carried out by the customer is not
recommended. If a double check spacer is to be used, be sure to order the type that is built in
to the sub-plate as shown in the ordering example above.

Sub-plate Parts Nos.

1 - Part no.
* 3pes. No.|  Description SY3000 | SY5000 | SY7000 Note
for the SY7000
Round head SY3000-23-24A | SY5000-221-1A| SY7000-221-1A | Part numbers shown on
@ Valve | combinaton serew | (M2 x 32) (M3x325) |(M3x36.5) | the left are for 10 valves
I screw | Hexagonsocket | SY3000-222-1A| SY5000-222-1A | SY7000-222-1A (20 pes.).
head cap screw | (M2 x 32) (M3x325) |(M3x36.5) | (30pcs. forthe SY7000)
7| Base gasket 11 11 11 Part numbers shown on the
@ (for sub-plate) SY30M-11-1A | SY50M-11-1A| SY70M-11-1A left are for 10 valves (10 pcs.).
Cable length: 300 mm
Z5-37L Cable weight: Approx. 18 g
Cable length: 500 mm
Z8-37-M Cable weight: Approx. 23 g
3| M12 waterproof a7 Cable length: 1000 mm
® connector cable Z8-37-N Cable weight: Approx. 36 g
Cable length: 2000 mm
Zs-31-P Cable weight: Approx. 62 g
Cable length: 5000 mm
Z8-37-C Cable weight: Approx. 140 g

A\ Caution

M2: 0.16 N-m (SY3000)
M3: 0.8 N-m (SY5000/7000)

696



GTED Single Unit/Sub-plate T [IP67 C: liant] .
In?S?den;ortl;d,pBitiorzF:forted,To(:an:)rt,)rlf:d) S Y3000/ 5000/ 7 000 Series

Dimensions: SY3000 Series

Plug-in Side Ported
Single Unit/Sub-plate | Top Ported

SY3000000-0001-WO-0100 (Side ported) 4 183
For "F" marking 1/8
(Thread type) [4(A), 2(B) port]
[ l N r( vN—¢ 21
W
1 =4
Manual override 83.2
Push-tumn locking slotted type: 511
Press, then rotate it. 88 2x03.2
4(A) port side: Blue (For rubber seal) (For mounting)
: Gray (For metal seal)
2(B) port side: Yellow o o
a8
(Light/surge voltage suppressor) L2 mem ®
‘ 52.2 5.8 o
67.9 (15.3)
18 (For 3-position)
[1(P) port] F2od —3_
R
3|
1: Brown (Unused) /7 X\ 3: Blue (COM.) o &
2: White (SOL.b) 4: Black (SOL.a) i 3 2|2
5 1€ S 31 81 ] g2
Sub-plate side pin arrangement Triangle mark, N
(No numeric indication) M5 x 0.8 M5 x 0.8

COM.

(PE: External pilot EXH port) (X: External pilot port)
1/8 11(11 9.5
[5(EA), 3(EB) port]

28.6 5.2

= These figures show the “SY3200-5Z1-WO-01F.”

SY3013¢0000-0001-00-WH-V010 (Top ported)

i
w

M5 x 0.8 (For threaded type;
[4(A), 2(B) port]

One-touch fitting
[4(A), 2(B) port]
Applicable tubing O.D.: 22

103.2, 01/8"
: 04, 05/32"
106, o1/4"
red
z |
= o
e
[To) 4
@0 s

= These figures show the “SY3230-5Z1-C6-WO-VO1F.”
= 1(P), 5(EA), 3(EB), X, and PE ports are side ported.

697



SY3000/5000/7000 Series

Plug-in
Dimensions: SY3000 Series Single Unit/Sub-plate

SY300{0000-0001-WO-B010] (Bottom ported)

For "F" marking
(Thread type)

e
(N L@ | <

Manual override

Push-tum locking slotted type: 8
Press, then rotate it. 2x03.2 3
4(A) port side: Blue (For rubber seal) (For mounting) =
: Gray (For metal seal)
2(B) port side: Yellow o @
8
(Light/surge voltage suppressor) @
|
T 52.2 5.8 | o
g =
Sub-plate side pin arrangement 67.9 (153 g
(No numeric indication) (For 3-position)
COM.
i Ades
1: Brown (Unused) 7\ 3: Blue (COM.) T alg
3| &
2: White (SOL.b) 4: Black (SOL.a) o &8
o ==
5 W LW
i ﬁ[ ge
Panel fitting dimensions -
Triangle mark N\ Plug M5 x 0.8
M5 x 0.8 28.6 52 (X: External pilot port)
(PE: External pilot EXH port) /Plug
Iy
~| @
ol 8§
£ 1313 75 9 ¥
N 59 ¥
295 ||\ 2 Jus il
e o«
345 2x M3 rDWAj ‘ o
2x 034 ol Sl b
425 18 lé() @
[1(P), 2(A), 4(B), 5(EA), 3(EB) port] Fitting dimensions for panel mounting
' ' ' ' 14.5 ‘ 13.3 Refer to panel fitting dimensions

for details.

# These figures show the “SY3200-5Z1-WO-BO1F.”

698



GTED Single Unit/Sub-plate T [IP67 C: liant] .
In?S?den;ortl;d,pBitiorzF:forted,To(:an:)rt,)rlf:d) S Y3000/ 5000/ 7 000 Series

Dimensions: SY5000 series Single Unit/Sub-plate | Top Ported

SY500{0000-0001-WO-020 (Side ported)

For "F" marking 464 1/4

108 ——F———
(Thread type) T 1 [4(A), 2(B) pori]
M5 x 0.8 18 25 M5 x 0.8
(PE: External pilot EXH port) (X: External pilot port)

v

AN G e

Manual override 103.4
Eush-tl:;n Iock'intg sitlotted type:) 2%043 71.3
ress, then rotate - =
. g (Formouniing .
4(A) port side: Blue (For rubber seal) ey ‘ 8 74
: Gray (For metal seal) e T
2(B) port side: Yellow J_‘,,,
& d o (=}
— o [ 1:?.‘1 @ <+
(Light/surge voltage suppressor) s p ses (o]
<!
74.6 34 f_’
20.3 (16.6) B

(For 3-position)

Sub-plate side pin arrangement 1/4
(No numeric indication) [1(P) port] fizds 1
aly
1: Brown (Unused) ~# X\ 3: Blue (COM.) COM. 3|8
ol w
2: White (SOL.b) 4: Black (SOL.a) | § g
AN AL o 7| 5%
o Qt@t“‘ i
Unused (Without terminal) Triangle mark,
18 | 18 [ 16
1/4
[5(EA), 3(EB) port]
# These figures show the “SY5200-56Z1-WO-02F.”
SY5013¢0000-0001-00-WO-V02 (Top ported) Plug

For "F" marking

(Thread type) 145
<For 01> :
3d
One-touch fitting ; (16.2) 25.9 1/8 (For threaded type)
[4(A), 2(B) port] (Forthreaded type) (For threaded type) [4(A), 2(B) port]
Applicable tubing O.D.: 04, 85/32"
06, 01/4"
28, 05/16"

T

i
©Ro o

= These figures show the “SY5230-5Z1-C8-WO-VO2F.”
* 1(P), 5(EA), 3(EB), X, and PE ports are side ported.

699

(76.7)

(62.3)
(For 01 threaded type|




SY3000/5000/7000 Series

Plug-in Bott
Dimensions: SY5000 Series Single Unit/Sub-plate ottom Ported

SY50030000-0001-WO-B020] (Bottom ported)

For "F" marking

(Thread type) 46.4 10.8
M5 x 0.8 Plu M5 x 0.8
(PE: External pilot EXH port) /Tg (X: External pilot port)

IINBB

(Light/surge voltage suppressor)

. 103.4
Manual override E A
Push-turn locking slotted lype:) 2x043 62‘ 74 :
- a g s
Press, shen rotate it. Fomauing L
4(A) port side: Blue (For rubber seal) . '
: Gray (For metal seal) el a
2(B) port side: Yellow J_ o]
Py < d > o
| g &l K] @
iE;: u? 358 @

74.6 3.4 @

90.3 (16.6)
(For 3-position)

Sub-plate side pin arrangement

T, £ad
1: Brown (Unused) 3: Blue (COM.) (No numeric indication) als
- Whi . COM. bl d
2: White (SOL.b) 4: Black (SOL.a) ol 818
o ==
O wlw
eeQT 79 | g
Panel fitting dimensions —
Triangle mark/ M
Bax M4 Unused (Without terminal)
2x04.5
Fitting dimensions for panel mounting
[t} ol o Refer to panel fitting dimensions
£ @ <+ il
~ 18 18 16 for details.
3.5 57 <~
62
1/4

[1(P), 2(A), 4(B), 5(EA), 3(EB) port]

* These figures show the “SY5200-5Z1-WO-B0O2F.”

700



GTED Single Unit/Sub-plate T [IP67 C: liant] .
In?S?den;ortl;d,pBitiorzF:forted,To(:an:)rt,)rlf:d) S Y3000/ 5000/ 7 000 Series

Dimensions: SY7000 Series Single Unit/Sub-plate | Top Ported

SY70080000-0001-WO-030 (Side ported)  ror -+ marking we w8
(Thread type) - - [4(A), 2(B) port]
M5 x 0.8 225 288 M5 x 0.8
(PE: External pilot EXH port) (X: External pilot port)
AN S o
Ly O

Manual override 116.7
Push-tumn locking slotted type: 2x04.3 84.6
Press, then rotate it. {Fumwnﬂng\\ 73 8.1
4(A) port side: Blue (For rubber seal) N

: Gray (For metal seal) TV i
2(B) port side: Yellow © T
4 < nl I @ ©
~7t‘=é_yl__® G 8 ¢
(Light/surge voltage suppressor), SEA TP S foy
<

87.2 4.1 @

102.9 (20.6) -

(For 3-position)

Sub-plate side pin ar 38 s
(No numeric indication) [1(P) port] B
5 o~
1: Brown (Unused) 7 ‘\\3: Blue (COM.) CoM. ol & ;
I S
2: White (SOL.b) 4: Black (SOL. 3| «| S
e lS0L) elSeLe) FarvanWansl of © 52
>.J N\ A 59¢ Q8 =L
Unused (Without terminal) Triangle mark,
22.5)1225]175
3/8
[5(EA), 3(EB) port]
= These figures show the “SY7200-5Z1-WO-03F.”
SY703¢0000-0001-00-WH-V030 (Top ported) g

|| (Max. 3)

One-touch fitting / 22.6| 302 1/4 (For threaded type)
[4(A), 2(B) port] [4(A), 2(B) port]
Applicable tubing O.D.: 06, 01/4"
: 28, 05/16"
1210, 23/8"

1o12 g i~

(73)
(For 02 threaded type)

(84.5)
(For C12: 93.8)

# These figures show the “SY7230-521-C10-WO-VO3F.”
# 1(P), 5(EA), 3(EB), X, and PE ports are side ported.

701



SY3000/5000/7000 Series

Dimensions: SY7000 Series

SY70030000-0001-WO-B030 (Bottom ported)

1: Brown (Unused)7§3: Blue (COM.)
2: White (SOL.b), 4: Black (SOL.a)

For “F” marking
(Thread type)
M5x0.8
(PE: External pilot EXH port)

Manual override

Plug-in
Single Unit/Sub-plate

M5 x0.8
(X: External pilot port)

8 ]

y

116.7

Panel fitting dimensions

2 x M4

=

8

46.2

69
73

702

Push-turn locking slotted type:
Press, then rotate it.

4(A) port side: Blue (For rubber seal)

: Gray (For metal seal)

2(B) port side: Yellow

Light/surge voltage suppressor)

Sub-plate side pin arrangement
(No numeric indication)

COM.

Unused (Without terminal)

84.6

8.1

(Max. 3)

2x04.3
(Formauning)\ 73

a

S G ] [

SEA 1P

(Max. 3)
38
46

LY

+ —

T

87.2

4.1

102.9

@

(20.6)

(For 3-position)

Triangle mark

?ls
5|2
©f Wiy
w0 5|5
@ @@ @ Q8§ |
Plug
Fitting dimensions for panel mounting
205 205 175 Relerto.panelfmlngdlmenslons
@ for details.
FaWarVary/ IR
A\ RANVANY/ ¢ )
RasYard
RERYPANY
225| 2838

3/8

[1(P), 2(A), 4(B). 5(EA), 3(EB) port]

# These figures show the “SY7200-5Z1-WO-BO3F.”



